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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
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Multiplikation - vertikal Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
2) 3) 4)
761 759 569 123 62402
. 82 . 19 . 15 . 13
1.522 6.831 2.845 369 ,  14.421
+60.880 +7.590 +5.690 +1.230
62.402 14.421 8.535 1.599 3 __ 8535
. 1599
6) 7) 8)
126 192 736 791 . 86w
. 69 . 49 . 52 . 37
1.134 1.728 1.472 5.537 s 9.408
+7.560 +7.680 +36.800 +23.730
8.694 9.408 38.272 29.267 7. _ 38272
8. 29.267
10) 11) 12)
221 482 575 716 . 17238
. 78 . 76 . 53 . 89
1.768 2.892 1.725 6.444 o 36.632
+15.470 +33.740 +28.750 +57.280
17.238 36.632 30.475 63.724 1. 30.475
b 63724
14 15 16
216 ) 243 ) 862 ) 145 11664
8 54 . 76 .21 . 69
864 1.458 862 1.305 w  18.468
+10.800 +17.010 +17.240 +8.700
11.664 18.468 18.102 10.005 15 18.102
16. 10.005
18 19 20
873 ) 484 ) 895 ) 425 7 60.237
. 69 . 72 . 68 . 92
7.857 968 7.160 850 s 34.848
+52.380 +33.880 +53.700 +38.250
60.237 34.848 60.860 39.100 10._ 60.860
o0 39.100
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